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Part one: vocabulary
Directions: Complete the following sentences by using the most suitable word or phrases below each one.

121 . | found many of your suggestions very impressive; | intend to ............ some of them in my plan.
a. disseminate b. incorporate C. perpetuate d. proliferate

122 . Health information administrators apply the science of information to the collection, storage, use
and ............. of information.
a. transaction b. transportation c. transfusion d. transmission

123 . The patient’s reaction toward the problem was complete withdrawal from the society. She --------

any kind of activity in public.
a. avoided b. surrounded c. confirmed d. advocated
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124 .

125.

126 .

127 .

128 .

129.

130.

131.

132.

133.

134 .

135.

136 .

137 .

138.

139.

140 .

Gastroesophageal reflux is now one of the most common ...... of mankind, confusing medical researchers.
a. antecedents b. maladies C. expositions d. modalities
The goal is to reduce, if not eliminate, all elements of the clubfoot .......... to obtain a functional,
flexible, strong, and normal foot.
a. deformity b. remedy C. maintenance d. remission

The information was welcomed by all members of the committee because of its ............
a. deformity b. ambiguity C. accuracy d. deficiency

Patients with end stage cardiac disease, not liable to conventional medical or surgical therapies,
are .......... for heart transplantation.

a. eligible b. reversible C. notorious d. vigorous
Nowadays, heart surgeons .......... some of the most complex and challenging operations.
a. segregate b. implicate C. aggravate d. undertake
Although the link between increased fiber .......... and decreased risk of colorectal cancer is still
uncertain, most nutritionists recommend the inclusion of more fibers in the diet.
a. ventilation b. consumption c. domination d. simulation
To apply such complicated modalities, we need to have . L..... equipment.
a. redundant b. primitive c. sophisticated d. outdated

In treating a terminally il patient; the physician should determine whether the benefits of
treatment ....... its burdens.
a. outburst b. overact c. outweigh d. overrun

Any understanding of the purpose of health care is going to be influenced by the economic, social,
and psychological-.l..... of healthrcare providers.

a. concerns b.[contents ¢-conflicts d. complexes
Many people dg pet know that they are saved from diseases; just by public health ........ :

a. measures b. interferences c.interactions d. manifestations
Although some physicians are not willing to accept AIDS patients, they have an ethical ....... to
explain their medical problems.

a. inspection b. obligation c. instruction d. hallucination

Only the reasonable desires of the individual for health care need to be ....... :

a. spared b. saturated c. satisfied d. spanned
Blood tests are important measures to find signs of some ........... malignancies.

a. convertible b. hidden c. forbidden d. disposable
Great men's services are ...... to mankind.

a. invalid b. vague C. vain d. invaluable

Recent research suggests that, on average, half of the children of a person with any rare genetic
ceeeen... Will inherit the disease.

a. defect b. profile c. merit d. make-up
Although entirely eradicated in most parts of the globe, malariaisstill ........... in some regions.
a. prevalent b. inexistent c. improbable d. permeable
Anyone in charge of important computer files must be careful about.......... deletion of vital
information although various data recovery packages might help undo the deletion.
a. advantageous b. sufficient c. calculated d. inadvertent
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Part two: Reading comprehension

Directions: Read the following passages carefully. Each passage is followed by some questions. Complete the
guestions with the most suitable words or phrases (a, b, ¢ & d) below each one. Base your answers on the
information given only.

Passage 1

Pharmacology as a scientific discipline dates from the mid-1800s, but its development has taken place over
many centuries and has been influenced by many different cultures. The discovery of many drugs and
medicinal plants was largely through trial and error. Across the world as tribal man foraged for food, he soon
realized that his local woodland areas harboured a variety of roots, barks, berries and leaves which were not
only sources of food, but also in some cases possessed medicinal (healing, soothing and therapeutic)
properties. He also came across other matters that were highly toxic. Information about such plants was
handed down from generation to generation, providing the basis of much of our knowledge today. One such
example is the South Americansindians; who gave us the firstmuscle relaxant: a drug called curare that they
smeared onto the tips of their spears to immobilize animals when hunting. Today a drug which possesses
similar characteristics is used by doctors to relax their patients” muscles during operations.

141 . According to the text, scientific pharmacology ............ L. :
a. has existed for many centuries
b. has influenced several cultures
c. developed due to culturalinfiuences
d. first appeared in the mid-1800s

142 . Soothing effects of some plants were first discovered by ............ .
a. some tribal-men whileshunting
b. tribal peopte fooking forfeod
c. tribes surrounded by trees and bushes
d. passing the ‘'drugs“from tribe'to tribe

143 . ‘curare’ was originally used by Indians to ............
a. cure sick tribal men
b. have more efficient spears
c. eliminate pain and infection
d. kill enemies in tribal wars

144 . The features of the drug, now ......... , resemble those of the drug used by Indians while hunting.
a. a highly toxic substance
b. beneficial in surgery
c. a muscular stimulant
d. an effective precursor

145 . The passage is mainly trying to indicate the ................
a. principles of pharmacology
b. components of certain drugs
c. beneficial effects of some drugs
d. herbal origin of drugs

\v
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Passage 2

Society will be working toward a distribution of basic health care that is adequate for the restoration and
preservation of health as society defines it. This basic and adequate health care may be called humane
insofar as it protects the dignity of the individual person.

When the absence of certain types of health care leads to early death, disfigurement, or loss of functions
necessary to take one’s place in society, we have certainly fallen below the basic minimum of health care
for society. In other words, the absent care is part of the basic and adequate minimum. It is basic
because, in our society at our stage of ethical, scientific, and technological development, the dignity of
the individual demands that we employ reliable and ordinary means to maintain a certain minimum level
of treatment. This minimum requires that the individual gain relief from pain, which destroys the higher
human functioning, and restores at least the minimum functioning valued by society; that she be spared a
death that is the result of trivial or avoidable circumstances; that she be spared disfigurement that will
make her repugnant to her society.and.herself;.and.that.shebespared a loss of function that will make
her unable to share the actions, burdens, and aceomplishments that membership in society demands. A
poorer society than ours might not be able to address many of these concerns due to its lack of abilities
and resources.

146 . According to the passage, humane health care could be defined in terms of ..... .
a. preserving a person’s true worth
b. individual’s focus on family-cenceris
c. equal distribution of health care resources
d. considering and protecting social demands

147 . We understand from the passage that individuals ........ :
a. are disfigured-despite abundant health care
b. may die from/otherwise curablediseases
c. share concerns of many other people
d. are respected-if, functionin a-proper,manner

148 . The underlined pronoun “she” in the text refersto ...... .
a. a specific person in a poor society
b. the female patient in need of health
c. the woman addressed by the writer
d. every member of the society

149 . The text implies that a/an ........... society might not specify its people’s basic health care worries.
a. developed
b. malfunctioning
c. impoverished
d. affluent

150 . The author of this passage believes that human dignity requires that different societies ...... .
a. have the same level of health care
b. maintain their own minimal level of health care
c. address the social groups similarly
d. contribute to poor countries’ health care system

A
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Passage 3

A child born in Sweden is almost 30 times more likely to reach the age of five than a child born in
Swaziland. While the national rates conceal variations in mortality between the rich and the poor, urban and
rural, it is possible to suggest that national wealth is the key factor in determining mortality. However, the
evidence clearly indicates that mortality is affected by factors other than national wealth. The most striking
example is the comparison between the United States and Cuba. Though life expectancy in both is virtually
identical, the former spends less than $200 per person on healthcare while the latter spends almost $4,400 per
person. Cooper R et al. (2006) state that much of this is due to relatively small amounts invested in
infrastructure combined with a well-developed public health strategy. As Cooper R et al. go on to emphasize,
‘if the experience of Cuba could be extended to other poor and middle-income countries, human health
would be transformed’. However, since the 1980s Cuba has also been involved in technology developments.
The research, development, and marketing of advanced drugs on a worldwide scale illustrate how much can
be achieved by a low-income country.

151 . The passage is mostly dlscussmg
a. the role of national wealth'in health
b. Cuban experience in health promaotion
c. factors reducing mortality rate
d. mortality rate among the poor and.the rich

152 . Mortality rate can be lowered by ............. .
a. low investment in infrastructure
b. production of advanced,ditgs
c. a suitable public health strategy
d. life expectancy among people

153 . The comparison made between the USA and Cuba .......... the key role of national wealth in
lowering mortality rate.
a. refutes b.lapproves c.elaborates d. reaffirms

154 . The comparison between the United States and Cubatevealsthat ...
a. the former spends more on life expéctancy
b. the latter has a better healthcare system
c. the average longevity in both is the same
d. life expectancy in the former is higher

155 . According to Cooper et al., in order to promote public health, the Cuban model of health care
system should be ..............
a. modified b. abandoned c. transformed d. followed

Passage 4

Researchers have examined data from 500 men followed for 14 years after a prostate biopsy that was found
to be benign. This is the first of a group of studies to be conducted in order to determine if there are
subpopulations of men diagnosed with benign conditions that may be at a greater risk for developing prostate
cancer. Prostate abnormalities were detected in 11 percent of the patients, and after considering factors
including family history of prostate cancer, the researchers concluded that obesity at the time of the initial
biopsy was associated with a 57 percent increased risk of developing prostate cancer during the 14 years of
follow-up. We don’t absolutely know what the true biology is because the association was seen only for
prostate cancer that occurred earlier in the follow-up period not in its later years. Therefore, this only reflects
the association between the body size and larger prostate size, which is thought to reduce the sensitivity of
the needle biopsy. It is possible that the tumors missed by initial biopsy grew and were detected in a follow-
up biopsy. Although the association found in this study does not prove cause and effect, it indicates that
obesity should be considered a factor for follow-ups after a benign prostate biopsy.
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156 .

157.

158 .

159.

160 .

Based on the information presented in the passage, about ............ patients from the followed-up
population proved to have prostate abnormalities after some years.

a. 275

b. 125

c. 55

d. 445

The main purpose of these series of studies is to answer the question of whether ........... :
a. benign prostate cases could develop into malignancies in the course of time
b. cases decided as cancerous could prove to be benign in the course of time
c. present techniques of biopsy are reliable indicators of the existence of cancer
d. family history can be considered as a reliable predictor of prostate cancer

Based on the results of the present study, patients who .......... at the time of initial examination
were more likely to develop prostate cancer in the subsequent years.

a. underwent the needle biopsy technique

b. failed to follow preseriptions

c. had a family history @f prostate cancer

d. suffered from obesity

The one claim that the author makes as the most likely reason for the observed results is ......... .
a. when examining obese men, needle biopsy loses its sensitivity in finding cancerous cells
b. obesity contributes to the development of prostate cancer early in the follow-up
c. family history may centribute to the development of prostate cancer
d. diagnosis of benign conditions has lost its credibility over years

The factor that causes the biology of what was observed to become less clear isthat ............ .
a. tumors were invariably missed in the'initial biopsy
b. the association between the body size and prostate size was not found
c. cancers were gbservedhonly if the'initial years of-thesfoHow=up;period
d. only some=subpopulations-0f men developed cancer
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